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Precalculus: 3.2 Zeros of Polynomial Functions

Questions
1. Use the Rational Zero Theorem to find all possible rational zeros for the polynomial

P(x) = 42° — 1022 + 42 + 5
2. Find all the real and imaginary zcros for the polynomial

P(x) =42° - 1022 + 42+ 5
3. Find all the real and imaginary zcros for the polynomial

s . B .3 )

P(x) = 22" + 52° + 32° + 152 — 9

4. Joan intends to make an 18 in® open top box out of a 6in by 7in picce of copper by cutting cqual squares («

in by x in) out of each corner and folding up the sides. Write the difference between the intended volume and the
actual volume as a function of . What valuc should z be to get a box with volume 18in3?
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